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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION - NOVEMBER 2018

CLASS :VI MAX MARKS : 60
SUBJECT : III LANGUAGE [KANNADA] MAX TIME : 1 HR 30 MIN

GENERAL INSTRUCTIONS
Answers to this paper must be written on the paer provided separately.
You will not be allowed to write during the first 10 minutes. This time is to be spent in reading the
question paper.
The time given at the head of this paper is the time allowed for writing the answers.
Read the questions carefully and write question numbers clearly as given in the question paper.
The intended marks for the questions or parts of questions are given in brackets [ ]
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